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José de Torres y Martinez Bravo [1665-1738]

Edited by Jonathan Goodliffe and Mick Swithinbank

Missa a 8 con violines

1. Kyrie

Violin 1

Violin 2

Violin 3

Soprano

Soprano

Alto

Tenor

Soprano

Alto

Tenor

Bass

Continuo













                  

                  

                 


Ky

 
ri- e

 
- e

 
lei- son.

  
-


Ky

 
ri- e

  
-

 
e


-


Ky

 
ri- e

 
- e


lei- son.

    
-


Ky

 
ri- e,

 
-


Ky

 
ri- e

 
- e


lei


- -


K

 
ri



- e

 
- e


ei

 
- son.


-

 
Ky

 
ri- e

  
- e


-





Ky

 
ri- e

 
- e


lei


- son.


-


Ky

 

ri- e

  
- e

  
lei


- - -

 
Ky

 
ri- e_e

 
- lei- son.

  
- Ky

 
ri- e_e

 
- lei


- son.


-



 
Ky

 
ri- e

 
- e


lei


- son.


- Ky

 

ri- e,

 
-






 
Ky

 
ri- e

 
- e


lei


- son.


-

 
Ky

 
ri-


- 

Ky

 
ri- e

 
- e

 
lei


- son.


- Ky

 

ri- e,

 
-


Ky

 
ri-


-                     
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Vln. 1

Vln. 2

Vln. 3

S.

S.

A.

T.

S.

A.

T.

B.

Cont.













                    

               
                   

 
lei


- son.


-


Ky

 
ri



- e_e

 
-


lei


- - -

 
son.


-

 
Ky

 
ri- e_e

 
- lei


- -


ei


son.


-


K
 

ri- e

 
- e


 

lei


- - -





son.

  
Ky

 
ri- e

 
- e


lei


- -

 
Ky

 
ri- e

 
- e


lei


- son.


-

 
Ky

 
ri-


-


Ky

 
ri



- e

 
- e


lei


- son.


-

 





e_e


lei


- son.


-


Ky

 
ri



- e,

 
-

 


e


e

 
lei


- - - - son.


-

 
   

    
6

  
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Vln. 1

Vln. 2

Vln. 3

S.

S.

A.

T.

S.

A.

T.

B.

Cont.













                   

                      

                     


son.

 
Ky

 
ri- e

 
- e


lei


- son.


- - -


son.

 
Ky

 
ri- e,

 
- Ky

 
ri- e_e

 
- lei


- son.


-


son.

 
Ky

 
ri- e

 
- e


lei


- son.


- - -





son.

 
Ky

 
ri- e

 
- e


lei


- son.


- - -


e


e

 
lei


- - -


son.


- - - - - -


Ky
 

ri


- - e


- e


lei

 
- -


son.


- - -





Ky


ri


- e


- - e

 
lei


- - - -


son.




Ky

 
ri- e

 
- e


lei


-


- son.


        
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Vln. 1

Vln. 2

Vln. 3

S.

S.

A.

T.

S.

A.

T.

B.

Cont.













      

      

      

      
Chris

 
te- e

   
-

 
Chris


te- e

        
lei


- - - son.


- Chris


te


- e

      
- - -

   
Chris

 
te-

   
e
 


     

lei


- - - son.


-


Chris


te


-




    
Chris


te- e

   
lei-

 
son.

  
- Chris


te


-

      

      




      
      
     

6

      
43

  
43

      
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Vln. 1

Vln. 2

Vln. 3

S.

S.

A.

T.

S.

A.

T.

B.

Cont.













                    

                                

                         


lei-

 
son.

  
-

    
Chris


te-

 


lei

  
- son.


-

     
Chris




e

 
lei- son.

 
-

     
Chris


-





e

 
lei- son.

 
-

     
Chris



 
Chris


te- e

         
lei


- - - son.


- Chris

  
te- e

  
lei

  
- - son.


-

   
Chris


te- e

        
lei


- - - son.


-






     
Chris

 
te- e

   
lei- son.

    
-  

Chris


te- e

   
lei-

     
son.


- Chris


te


-


e

 
lei- son.

 
-

5


43

              
6

  43

  
3


43


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Vln. 1

Vln. 2

Vln. 3

S.

S.

A.

T.

S.

A.

T.

B.

Cont.













                     

                       

                   
     


e

 
lei


- son.


-

 
Chris


te- e

   
lei


- son.


-

 
Chris


te

 

-


 

te


- e


lei


- son.


-

  
Chris

 
- te e

  
lei


- son.


-


Chris


- -


te


e

 
lei

  
- son.


-

  
Chris

 
- te


e


lei


- son.


-

  
Chris






 
te- e

   
lei


- son.


-

  
Cris

 
e- e

  
lei


- son.


-

 
Chris


te-

 

  
Chris

 
- te e

  
lei


- son.


-

 
Chris


te


- e


lei


- son.


-

  
Chris


te


- e


lei


- son.


-

 
Chris

 
te- e

   
lei


- son.


-




  
Chris


te


- e


lei


- son.


-

 
Chris

 
te- e

    
- lei


son.


-  

Chris

 
te- e

   
lei


- son.


-

 
Chris

 

te- e

   
lei


- son.


-

6

     
43


6

            
6

     
43#


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Vln. 1

Vln. 2

Vln. 3

S.

S.

A.

T.

S.

A.

T.

B.

Cont.













                          

                        

                      


e


lei


- son,


-

  
e

 
lei- son.

  
-


Chris

 
te- e

 
lei-

 
-


te

 
e

 
lei- son.

   
-

   
Chris



 
- te e

   
lei- son,

  
-

 
e

 
lei


- son.


-

  
Chris






e


lei


- son.


-

 
Chris

 
te- e

     
Chris

 
te- e

  
lei


- -

 
Chris

 
te- e

  
lei




- son.


-

 
Chris

 
te- e

   
lei


- son.


-


Chris


 

Chris


te- e

  
lei


- son.


-


Chris

 
te- e

    

lei


- son.


-






 
Chris

 
te,


- -

 
Chris

 
te


- e


lei


- son.


-


 

Chris


te- e

  
lei


- son.


-

 
Chris

 
te- e

   
lei


- son.


-


                      

6



7
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Vln. 1

Vln. 2

Vln. 3

S.

S.

A.

T.

S.

A.

T.

B.

Cont.













                                     

                              

                            


son.

 
Chris

 
te


- e


lei


- son.


- Chris

 
te- e


lei

    
- son.


-

 
te,

  
- Chris

 
te- e


lei

    
- son.

 
- Chris



te

 
-


e

 
lei-

 
son.


-

 
te- e

   
lei- son.

 
-


Chris

 
te-



e

    
lei- son.

 
-






son.

 
Chris


te- e

   
lei


- - - son.


- - -

 
te- e

   
lei


- son.


- Chris

 
te- e

   
lei


- son.


- Chris

 
te- e

  
- lei

  
- son.


-

 
Chris


te- e

   
lei- son.

 
-


Chris

 
te



- e

      
lei


- - son.


-




  
Chris

 
te



- e

   
lei- son.

  
-

 
Chris

 
te- e

  
lei


- son.


- 

Chris

 
te- e

   
lei


- son.


- Chris

 
te- e

     
lei


- - - son.


-                

43

  

8



























42

Vln. 1

Vln. 2

Vln. 3

S.

S.

A.

T.

S.

A.

T.

B.

Cont.













         

         

      


Ky

 
ri- e

 
- e

   


    
lei


- - - - son.


- Ky


ri- e_e

  
-

      
lei


- - - -

 
Ky


ri


- e


- e

     
lei


- - - son.


- Ky


ri


- e


- e


lei


- - -

   
Ky
 

ri- e

 
- e

        
lei


- - - - -




    
Ky


ri


- e


- e

     
lei- - -

 
-

      
Ky

 
ri-


-

      




      
      
             

6


6

  
3

     

9



48

Vln. 1

Vln. 2

Vln. 3

S.

S.

A.

T.

S.

A.

T.

B.

Cont.













                                

                                    
                              


son.

     


son.

     


son.

     
Ky

 
ri



-


-





son.

     


e


e


lei- son.

  
- Ky

 
ri- e

 
- e

            
lei


- - - - - - - -

  
Ky
 

ri- e

 
- e

        
lei


- - - - - -




 
Ky

 
ri- e

 
- e

 
lei


- son,


- e


lei


- - - -   

Ky


ri


- e


- e

     
lei


- - - - -    

6

    
6


6


       

10



53

Vln. 1

Vln. 2

Vln. 3

S.

S.

A.

T.

S.

A.

T.

B.

Cont.













                 

                  

                  


Ky

 
ri- e

 
- e

   
lei


- son.


-

  
Ky

 
ri- e_e

  
- lei


- son.


-

 
Ky

 
ri- e

 
- e

 
lei- son.

  
-

 
Ky

 
ri- e

  
- e


lei


- son.


-


e,

  
Ky


ri



- e_e


  

- lei


- son.


-

 
Ky


ri


- e


- e


lei


- son.


-




 
Ky


ri- e

  
-


e

 
ley


- son.


-

 
Ky

 
ri- e

 
-


e


lei


- son.


-


son.

   
Ky


ri


- e


- e

 
- lei


son.


-

   
Ky


-


son.

   
Ky


ri


- e_e


- lei


- son.


-

  
Ky
 

ri-


-





son.

   
Ky


ri


- e_e


- lei


- son.


-

  


son.

   
Ky


ri



- e_e

  
- lei


- son.


-

  

                   
6




 
43




 

11



60

Vln. 1

Vln. 2

Vln. 3

S.

S.

A.

T.

S.

A.

T.

B.

Cont.













          

          

          

   
Ky

 
ri- e

 
- e

 
lei


- son.


-



  
Ky

 
ri- e,

 
-

 
Ky

 
ri- e_e

  
- lei


- son.


-



  
Ky

 
ri- e,

 
-


Ky


ri


- e




- e


lei


- son.


-






  
Ky

 
ri- e

 
- e

    
lei


- son.


-



 
ri- e

  
- e


lei


- son.


-

   
Ky

 
ri- e

 
- e

 
-


e


e

 
lei


- son.


-

    
Ky


ri


- -




  
Ky

 
ri- e_e

  
- lei


- son.


-

    
Ky

 
ri- e

  
- e


- 

Ky


ri


- e


- e


lei


- son.


-

     
Ky


  

6


6





3

 
6

         
43

       

12



67

Vln. 1

Vln. 2

Vln. 3

S.

S.

A.

T.

S.

A.

T.

B.

Cont.













                        

                       

                      
 

Ky

 
ri


- e


- e

  
lei


- - - - son.


- -

  
Ky

 
ri


- - e


- e

  
lei


- - son.


-

  
Ky

 
- ri


e


- e


lei


- son.


- -




  
Ky

 
- ri

 
e


- e


lei


- son.


- -


lei


- son.


- -


Ky

 
ri


- e


- e

 
lei


- - son.


-


e


e


lei


- son,


-

  
e


lei

 
-


- son.






lei


son,


- -

  
e


lei


-


son.


- - 

ri- e_e

  
- lei


- son,


-

  
e


lei


- son.


- -

2


6

65

   
        
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